SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 3)

TEST 3

Name:

Time: Score:

n 750273 — 550002 =

2 556492 — 454042 =

3 476750 — 352430 =

1576549 — 241141 =

5 857218 — 300015 =

6 225148 — 213125 =

N 226288 — 10147 =

» 609294 — 606092 =

9 831622 — 121010 =

100955729 — 740723 =

1) 8633926 — 3300123 =

12) 1436584 — 1314051 =

1) 313456 — 301305 =

1976922 — 535820 =

15 974521 — 113501 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 3
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608692 — 204661 =

809544 — 803344 =

686722 — 275202 =

640056 — 630052 =

338571 — 203060 =

415714 — 203603 =

976783 — 73680 =

6204662 — 3003512 =

2376398 — 2164380 =

422215 — 110210 =

396608 — 81205 =

764309 — 401300 =

810575 — 610161 =

427943 — 6833 =

632465 — 1133 =
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